TemBreak TemBreak @ TERASAKI

Innovators in Protection Technology

J=ta1=ATL—hIiRHEAS
Instruction Manual for Moulded Case Circuit Breakers
3K (Types)

- EER (Fix Type)

S630-CF S800-CF S630-NF
S800-NF S630-RF S800-RF
S630-PF S800-PF S630-ND
S800-ND

« BT SAEE T (Adjustable Thermal Magnetic Type)
S800-CJ S800-NJ S800-RJ
S800-PJ

S630-NE S800-NE S630-RE
S800-RE S630-PE S800-PE
S630-NEH S800-NEH S630-REH
S800-REH S630-PEH S800-PEH
H630-NE L630-NE

H800-NE L800-NE L800-PE
A1 FTAAARI AR HAE
Instruction Manual for Switch Disconnectors
23X (Types)

S630-GN S800-NN

RHBEELIERICEDZADEFITTATIMBAELTT IV KFISEARTOEVEURLY,
RURESTEBIRWNCE->TELSBBEICRL T I — U BETEEVEEA,

Please retain this manual for future reference.The Manufacturer assumes no
responsibility for damages resulting from non-application or incorrect application of the
instructions provided herein.

TSRS\

T547-0002
ABRHFEF X INER6-13-47
TEL 06-6791-2756

FAX 06-6791-2732

http://www.terasaki.co.jp

TERASAKI ELECTRIC CO., LTD.

6-13-47 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL +81-6-6791-2763
FAX +81-6-6791-2732
http://www.terasaki.co.jp

kiki-info@terasaki.co.jp int-sales@terasaki.co.jp

2G0778SAG (KRB-05350)

NREEDTEE

WL ER R AROFNI, LT ABEZOMO BEEE b HAEE RO T2 0%
BERCEBEENSTCERLTHSSBIRV TV, COBRHMAETIE, X2 EEIED
S ok BRI EEIELTRALTHYET,

AR RENFE- 2B BREKEN YA TR/ S B84 21 5 TTHEMD
HESN B35S,

TRV EESABA L ERERAENSEBYA T, FIRENEEYEELESI
AN BESN B A,

£, ICEHLAZETH RRICL > TR EARLERICHES DUBEP HBUET,
WFhHBELRETT D TBTTFo>TTFI,

BETIENIE (BIICHELEBOFMATERIEH4O5ZBBLTTEL.)

A EE

BERIFEEFERE (BRIEL) FToTTFE,

0= 2. ZRBENER,EEMIX IS FELERFREBICHKBELEVTTAL,
KKEDRERREL 7V, EEICEELEVWEZhD H)ET,

@I, V) HMEEDEYNRURMAKEEN TL—HREBICASHEWEIIC
BILTTEW KEDERREL 70, REEDHZTNA HIET

@t LIEEl, FAITL—h%EEO (OFF) 1L, TBEL TV AW EEERL TIT> T T AL,
BEDBINDHIET,

Q4B ITL—HDIBE ZHEAFRD PRIV INBIERLTTFIVBERT
B TICAKDRERELET,

@i TR UIHMZERF NIV TR TT IV MKDERELRET,

@5 T U DTS R UERE 4, I T 28I EE L HH
MOSEVEINLTFEV IR FEANDBALIGANE,  #7
KEDBEZND HNET,

OXRAN L —HERAIOEEERE I, TL—HiFE
FTLTHBLTT IV, F N7 P REBESN TO BB R EAL, g T —T%T
WFNVTEELDETIRZL TT SV, A A LIERIETRBIETIH LN HIET,

@7 —UHZPHOAIIHN BNWTT =T AN—X (IIRIEEE) 2+ FERL T TV R T
EHEVEEDHIET,

BERENER

A Tk
QiE FERICHN EVWT TV, RED S TN HYET,
A EE
@5 B E0IThY Y GEN) LB & FEERWBRLTASASRLE | (ON)IELT

TEW XER (BRER) EEMLABER,TL—HERRLTTEV, KKD
BN HNET,

WFF - RREDEE

AN EE
@R T Rk, BFIRBEER T AN ToTTEN,
ORTF s, R TL—H5EEO (OFF) ICL, REBLTWAEWZEERERL TITH>T T AL,
BEDOHIIAYHIET,
@i 71Ul EHRNAZER TV THEULEOL TT SV KKEDRRELNET,

BZOHmOEE

- A BEBO)—NRERH> TRBEVLEVWT TSV  BEORRLEVET

c TL—HDEFEDOHN—BREIENT TN SR REERIAECEE LA,

LA ERTIERPAFIERERICEL L HAEOODEFEAL TTEL,
WEES NSV E RBEBERVBHAD BTN HIET,

[1] Safety Notices

Be sure to read these Instructions and other associated documents accompanying the
product thoroughly to be familiarize yourself with the product handling, safety information, and
all other precautions before mounting, using, servicing, or inspecting the product. In these
Instructions, safety notices are divided into "Warning" and "Caution" according to the hazard
level:

: A warning notice with this symbol indicates that neglecting the suggested
procedure or practice could result in lethal or serious personal injury.

: A caution notice with this symbol indicates that neglecting the suggested
procedure or practice could result in moderate or slight personal injury and/or property damage.
Note that failing to observe notices could result in serious results in some cases.
Because safety notices contain important information, be sure to read and observe them.

M Mounting Precautions
(For detailed mounting dimensions, refer to the main catalogue.)

A\ Caution

@Electrical work should only be undertaken by suitably qualified persons.

@Do not place the product in an area that is subject to high temperature, high humidity,
excessive dusty air, corrosive gas, strong vibration and shock, or other unusual
conditions. Mounting in such areas could cause a fire or malfunction.

@Be careful to prevent foreign objects (debris, concrete powder, iron powder, etc.) and
rainwater from entering product. These materials inside the product could cause a fire
or malfunction.

@Prior to commencing any work on the product, open an upstream circuit breaker or isolator to
ensure that no voltage is applied to the product. Otherwise, electrical shock may result.

@For 4-pole breakers, be sure to connect a neutral conductor to the N pole. Otherwise, an
over-current may hinder the product from tripping, thus resulting in a fire.

@When connecting cable or busbar to the product, tighten terminal screws to the torque
specified in this manual. Otherwise, a fire could result.

@Even when tightening the terminal screws and &4 [reano o
after conductor connection, do not apply excessive }f;f,’,s;’s‘e‘*%-ﬂ% El
force to the terminals. Otherwise, a fire may result. on

@For front-connected breakers, Insulate all bare
conductors of the line side until the breaker end. If interpole barriers are packed, be
sure to use the barriers; moreover, insulate all bare conductors by insulating tape or the
like so that the tape overlaps with the barriers. Insufficient insulation may result in short-
circuit.

@Do not block the arc gas vents of the product to ensure adequate arc space. Blocking
these vents could result in failure of circuit interruption.

or
insulating tape

MHandling Precautions

/A\Warning

@Never touch terminals. Otherwise, electric shock may result.

/A\ Caution

@When the breaker trips open automatically, remove the cause, then return the
handle to the |(ON) position. Should a fault be interrupted, the breaker must be
inspected. Otherwise, a fire may result.

HMaintenance Precautions

/A Caution

@Service and/or inspection of the product must be done by persons having expert
knowledge.

@Before servicing or inspecting the product, open an upstream circuit breaker or the
like to isolate all sources of power. Otherwise, electric shock may result.

@Regularly check that the breaker terminal screws are tightened to torque values
shown within this manual, failure to do so may result in fire.

MOther Precautions

* Do not carry this product by accessory leads, as this may cause damage to the
product.

+ Unauthorised opening of the breaker cover will invalidate product warranty.

* When installing the product, use wires or conductors, the cross sectional areas of
which accommodate the rated current of the product. Using wires or conductors with
inadequate cross sectional areas may cause false tripping and overheat.

ABW—8 HYEELLEBIR Packaged ltems/Assembly Tools

RS
(X&)
JL—H . Instruction Manual : 1
Breaker - (This document)
21497 oo
FAAAXTE » WENUT (FCOH)
Switch . Interpole Barrier
Disconnector — (CF)JnIy FC)
3P:2
4P 1 3
# 3 Type
& /1B
Connections/Poles aty Type | Type 2
S630/ S800 H/L630 / H/L800
) 12 W M12X40 M12X40
4P 16

Fﬁﬁ?? (FC)
ron
Connected 3P| 4

T P M8X45 M8X85
p| 12 W M1240 M12X40
®| 16

Z@EW (RC)
Real

ear
Connected 3P| 4
MBX4 MBX

e = 845 885

EAF (PM) il

Pllg-in Connected [ ap |4 o MgXx45 MBX85
| 12 W M12X40 M12X40

1EAR, (F.P) 4P| 16

et Apglcable | 3P| 4

ere Applicable @W

M8X25 M8X25

e © O 18010/

R{ELEIE Operating Instructions

INRIV
Handle
(ON)
O Ny TRE
Trip Button
(OFF)
RESET
B N2 R IVR(ED
Operation Operation effort
O(OFF)= | (ON) 140N
| (ON)= O(OFF) 140N
TRIP= O(OFF) 170N

(4] NERfIBMmMER  Fitting Internal Accessories

#WBIRMvF  Auxiliary Switch
M M Type ﬁ B B Type

* *
T2AX00M I T2AX00B b
B X yF  Alarm Switch
M#Z M Type Bf, B Type
* *
T2ALOOM T2AL00B ﬂ
EE5I5IL TREESIFL
Shunt Trip Undervoltagie Trip
* *
T2SHO0 D T2UV80 D
* T EAEDRES
- * Symbols of Accessories

#H#AE&E  Combination

on (1) REOHIA-

@ Tab,cOVFTH

o MIC e
[

,\;2; LTI - Cutoftab.c along

s

the grooves carved
OFF (O ) on the back

B B Type
B
E—5
[
£
(T
=

WAy Fe— DM 255, 2R
ICEHFTREL,

In case of fitting only one auxiliary
switch, fitin left side slot.

- FBRBASE, DT EBICEBIETSIEERAL TS, ERATEL,
+ After fitting, verify the function of the Accessory.

TIR5| EH UEBOAIE  Pull Out Leads on Load Side

1) > < —7 Ring Mark
R v F BRI F
Auxiliary Switch Alarm Switch

atEm biEs alEm | bR
a contact b contact | acontact | b contact

T/AXC-14AXa | TUAYCTZAXD | g1/mic | 91/ALe
ZIAXC2HAXa | 21AXC2UAXD | - -
3UAXc-3AXa | SUAXC3UAXD | S4ALa | S2/ALD

SHE5I5 LER AEERESISLER
Shunt Trip Undervoltage Trip
power source power source
C1-C2 D1-D2

B4t L Removal

@ WEOHEICA>
<>~ Tab,cHLFh
PEELTT
N,

Cut off a,b,c along
the grooves carved
on the back




ARAES REWY - REWH
Breaker Mounting Procedure for FC/RC

6] AFMMAER EAK
Breaker Mounting Procedure for F.P ( Where Applicable )

O] ZBARMEMARE ZAk
Plug-in Mounting Block Mounting Procedure for PM

Breaker Mounting Procedure for PM

AN A

Plug-in Base
T2PMBOE3(Type 1)
T2PM80C3 (Type 1)
T2PMEOM3(rype 2
T2PMBON3 (Type 2)

T —/" \l
EABAA 0 A

. M8X45(Type 1)
Plug-in Base V[ MBX85(Type 2)
T2PMB80B 11.8~14.7N*m

*:3 or 4 (182 Poles)

« IO U BB LT DB FIETITVE T,

* When removing, remove the items in reverse order of mounting.

Terminal Cover
Mounting Procedure

Interpole Barrier
Mounting Procedure

]|
Interpole Barrier
T2BA40* S = prE Sy
%:3 or 4 (}£ Poles) (Eon‘rLectiop Terminal Cover
W] | Ticreest
§§C /%%% T2CR80 * S(Type 1)
T2CR80 * L(Type 2)

*:3 or 4 (1831 Poles)

* BALIZBUT OB FIETITVET,
* When removing, remove the items in

* BALIZBUF OB FIETITVET,
* When removing, remove the items in

reverse order of mounting. reverse order of mounting.

Handle Holder / Lock Mounting Procedure

S

N RIVRIVE/ Ty
| Handle Holder/Lock |

T2HL40

s

max x3 (¢5~8)

< NCRIVEIVE /By71E, | (ON),O (OFF) fBEDWTh THRMF I TEEd,

+ Handle holder/ lock can be fitted in any position of | (ON) and O(OFF).

s NARLVAYTELTERTT 258 3O FIBTRREEITIITT N,

+ When you use this item as the handle lock, please fit padlocks in the procedure of 3.
« B UISES I DB FIETITVET

* When removing, remove the items in reverse order of mounting.

8% HBNEE T
Auxiliary Circuit Terminals
77yvaTlL—h J
T
M8X45(Type 1) T2FP80S * ; (T2PM80B*, T2PM8OP* D15 &) or . ) p | M8X35mm
(S630-ND, S800-NDIZE& <) 14N
A| MBX85 (Type 2) - ¥ (For T2PM8OB*, T2PM8OP* $30- : 18~147N"m
2G0778SAG (KRB-05350) ‘ T v *:3 or4 (184 Poles) H or ) (Except S630-ND, S800-ND) ) I5)
EHREER F@EY BHERET RAV - 1EAK BHERER ZAl 1§58 A% (S630-ND, S800-ND)
Conductor Connection Procedure for FC Conductor Connection Procedure Conductor Connection Wiring Procedure (S630-ND, S800-ND)
for RC/ F.P ( Where Applicable ) Procedure for PM
G
» ~ B O .
‘ < L Qg
H, = Yo @ -]
¢H ¢E ' wA%y K S iR
o — 0 Flat Bar Stud ¢ Z
) b o S I L —— s
TR ORB KR, T2RP80#S(Type 1 O
F c TU-HEEETLT o — O—oO [} Load
ERLTTAL, Type 2 R l}l
*Insulate all bare . 3
C =50.5mm conuductors of the line #:3 ord (124 Poles)
D =19mm side until the breaker M10X27
E 13mm end. 18.6~29.4N-m
F <50.5mm M 13mm Q  =40mm
G =10mm W Mxe ] N M1240 Rl =26.5mm
H 13mm S 402~657Nm S| T3mm
AERAER EAK WmFNITRAER WFHN—BIER N RVENS /Oy TBRITER WARK - BFR (/—ka1—-XTL—-HDék)

Adjustable Thermal Magnetic Type / Electronic Type
(For Moulded Case Circuit Breaker)

Bt RIRER (5@ %)
Adjustable Thermal Magnetic Type
5 i : 10

0.8
0‘63@7)1 5@1 0
l(xIn)

Ir(xln)  fi(xIn)
EF  Electronic  Type

IR IR IR Char.
400520 600 600 %% 700 08 %9 o5 s 36
a50 e | <50 Y | oe s 7
w7 J w0\ ") 05 2
= > A B

A B C
473> Optional &
483150 ONIOFF A1 F

Ground Fault Trip
ON/QOFF Switch OFF

- AIEREET 3B R T R T T,

BiEEdR (/—k1—-XTL—-H0k)
Time / Current Characteristic Curves (For Moulded Case Circuit
Breaker)

THRERISAZHESRTE T Under bar is default setting.

1) RIZAZERZ  Adjustable Thermal magnetic Type  2) EF3X  Electronic Type

06308 1 X Adijustable I A:250,300,350,400,500,600,630 (A}
B:350,400,450,500,600,700,800 (A)
(:0.4,0.5,0.63,0.8,0.9,0.95,1 (xh) (A)

-
Iz Adjustment Range

4
>\ 5,6,7
025 3
I; Adjustment Range 018 \ \ <
1213 |4
57 10 xh [ 25 5 1014 xlg i

- AIEREET 3 BS R F ER& T T,




